SANAETEIF &R Ty REERATH | HE 22
L& 3 R A€ 20D

=X HP g | H= i &3F SR AN

= >~ BT AL F S (FEE RE 42%)

220 R (3 FEEAS S
HUBSnET ) ~FFE
g 20%04 o3
11 e pee 265 | 7l el KATE 20% 0 B
CE T SRRLE I SRR S L]
20% > ~ % ¥ =% plE § %
] ,}é“ T%J' ’I,{i °

S 108 (7 Mﬁg’?“*\
BHSHBEFT ) AET
‘¢§2%Mﬁﬁﬁ %
10 | 8 ﬁ&ﬁi%ﬁZM’ﬁPZ
gg'jj%;,l‘z Sy n% PR & A ]
20% > &5 ¥ x5 pE § 9%
D)= I%J ’]{i °

1-2

B
[
o
T},—-
<

Rk (KOL & RBe A 40 o
i) PR A

'

1-3

[S——Y
=
—
-‘m\q-
m’

S E EE TR
BHRFER lf\firéﬁi"
Z_ APRBEPER P 2 dTip £
L -

(23 £3250 i» ’ﬁf}v\ﬁiﬁ
JBEFTE 200 ~u )

1-4 = 353 #25 6e 2 3

SR RP - AE A2

. LS H Bk
Facebook # % & ¢ * ) %: ¥ ),,Jf . J,j
1-5 TN 1 x SR IR RS ?7&@—?‘&'? 2 A
REFRE SEO M4t3 it - TpEw §
zﬁ\ﬂgﬁﬂ;ﬁ:}f °

v

2-1




R NN S

'}
= v
1-6-1 %i _df 1 7 P~ Fehp AT TR R
L 3R E o
1-6 E=
YouTube
169 |F = bk 1 2 BrEiE( e ?ii"’ﬁ ]
R B RIEITE)EgFE @
#] i+
AT R AR e
LINE@ B Wiap &
{71 TS ! X )/ A xfﬁ,fst& 7 tRap 3 W
ek T AR LR TR AE
= B I ﬁf g R R R AL
%"-Fm g ﬁ&&ﬁ? L E
LINE@ 2 LIHG@E = bR %i 7
72 (EOM P
B2 g % Pfﬁﬁ B2 ipMEY E
MR 3 PQ B £FREH -
ZIF R -mES Y
T lv&.ﬂ.’l()}k’%ﬂﬁ&]aﬁg?ﬁ?
1-8 %ri??jii fL 10 | 5 F TR FYHIE2
—:,F[‘ 3\5 _\-‘r—]fxﬁ_(l.j,,%;.ﬁﬁi/.)#i
E2 AR FPE) o
%L%%‘i FHREREL ] LA
RIrfpetiay £3
HE T RETFEHR2 L
o FEPE Y PEE IR ~ R B
- N FAAEELFLIE 8]
Lo I RN T TS
N WEJ’? TR AL
&¥%§ ""‘F ri‘rl
78 S )ijt,‘,ii [~
%{v’ﬂ o
2L

/J\

B

S TREHA - RRZ2 T ERTRAET GEERLI NG RR ERER

D)

3-1

RAR 2

v

2-2




3-2 |piER 2 1 5
EAF T ORMEE K
) . FZ i d f‘iﬁﬁ f-f'—:%
-3 (R a 2 S\ .
3-3 | R L3 @p\sﬁ*ﬁﬁl‘rﬂi"iﬁ%
L ip i 100 8 A = b
ke
=B (FE R0
SRET S HFAET
Wi -2 E:Ta&tﬁi%]:': :
%g#a\m%*w
AR~ R e ffl?f 7
» GIEER S BT~ R
_ = gf 2l - o ST >
e Lt B poAwp ALAD A
BT AR AR 2
MEE == fgrg i, P
A F 7 R R
7z o)
ﬂ\ 3 N N =
3-p [t 2 1|5 ;%Egsﬂi
- . R B . REFT OB
o~ REGELEI R (SRR RF113%E BRI
AIEHFRERY o BRF
4-1 |PEB BEE R 5L 1 b e E2 #B AT P &k
W EBRLH -
4-2 |BxFa kA R 1 b2 2313 ¢
I BRI - pAEEP /A E GEERINN)
5-1 |2 R ¢ 5 | 3
ANIF 3D 4D )
5-2 ML D 5 | a‘%i% fé;?;; ;i{i
: o x
Slido® K v % V5 £ IR
AFER R GEREREIN W%E RRD -
6-1 |FHHRF 1 b

2-3




1 X

&

6-2 |7 5cse
= ~Hw 1w GEE R 25%5F RA HKRAERY)

ABRBERERY > R
BE2 ARB R EP ST

T-1 [T L 7% A 1 Es
BEFEH -
e
_ (% 4

it el RIEP > P T RRAEPH LR

2-4




